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BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM   

INTERMEDIATE EXAMINATION - 2017 
इंटरमीडिएट परीक्षा - 2017 

(ANNUAL / वार्षिक)  

ACCOUNTANCY  
समय : 3 घॊटे 15 ममनट]              [परू्णांक : 100 

 

SECTION-A 

ननम्नमऱखित प्रश्न सॊख्यण 1 से 40 में चणर विकल्प हैं, जिनमें से केिऱ एक ही सही 
उत्तर है। सही विकल्प कण चनुणि करें एिॊ उत्तर पत्र में चचजननत करें: 

 

1. आय व्यय िणते मऱिे िणते हैं…………… के ऱेन देन दिज करने के मऱए। 

(a) केिऱ आयगत प्रकृनत 

(b) केिऱ पूॉिीगत प्रकृनत 

(c) दोनों आयगत एिॊ पूॉिीगत प्रकृनत 

(d) इनमें से कोई नहीॊ 

 

2. विशषे उद्देश्य के मऱए प्रणप्त ककयण चन्दण 

(a) आय व्यय िणते में के्रडडट करनण चणहहए 

(b) एक अऱग िणते में के्रडडट करके जथिनत वििरर् में हदिणनण चणहहए 

(c) सम्पवत्त पऺ में हदिणनण चणहहए 

(d) इनमें से कोई नहीॊ 
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3. एक थकूऱ द्िणरण िणवषजकोत्सि के मऱए प्रणप्त ककयण गयण चॊदण मणनण िणनण चणहहए 

(a) पूॉिीगत प्रणजप्त 

(b) आयगत प्रणजप्त 

(c) सम्पवत्त 

(d) उपणजिजत आय 

 

4. ननम्न में से कौन-सी मद प्रणजप्त एिॊ भगुमणन िणते में िणयेगी ? 

(a) अदत्त िेतन 

(b) ह्रणस  

(c) आिीिन सदथयतण शलु्क 

(d) उपणजिजत चॊदण 

 

5. प्रणजप्त एिॊ भगुतणन िणतण..............कण सणरणॊश है। 

(a) आय एिॊ व्यय िणतण 

(b) रोकड़ बही 

(c) आचिजक चचट्ठण 

(d) इनमें से कोई नहीॊ 

 

6. पूॉिी कोष की गर्नण की िणती है। 

(a) आय - व्यय 

(b) सम्पवत्त - दणनयत्ि 

(c) पूॉिी + दणनयत्ि 
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(d) इनमें से कोई नहीॊ 

7. चणऱ ूिषज के दौरणन अचिम प्रणप्त चॊदे हैं 

(a) आय 

(b) सम्पवत्त 

(c) दणनयत्ि 

(d) इनमें से कोई नहीॊ 

 

8. गैर-व्यणपणररक सॊथिणओॊ के अचिकणॊश ऱेन-देन होते हैं। 

(a) नकद 

(b) उिणर 

(c) नकद और उिणर दोनों 

(d) इनमें से कोई नहीॊ 

 

9. यहद नये सणझदेणर के प्रिेश के समय पथुतकों में ऱणभ-हणनन िणते कण कोई शषे है तो 
इसे हथतणॊतररत ककयण िणयेगण 

(a) ऱणभ-हणनन समणयोिन िणते में 

(b) सभी सणझदेणरों के पूॉिी िणते में 

(c) परुणने सणझदेणरों के पूॉिी िणतण में 

(d) पनुमूजल्यणॊकन िणते में 

 

10. सम्पवत्तयों एिॊ दणनयत्िों कण उनके पनु् मलू्यणॊककत मलू्य पर हदिणयण िणतण है 

(a) नये आचिजक चचट्ठे में 

(b) पनुमूजल्यणॊकन िणते में 

(c) सभी सणझदेणरों के पूॉिी िणतों में  
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(d) िसऱूी िणते में 

11. यहद नयण सणझदेणर ख्यणनत की रणमश नकद में ऱणतण है तिण ख्यणनत िणते में पहऱे से 
शषे विद्यमणन हो तो ख्यणनत को परुणने सणझदेणरों में अपमऱखित ककयण िणतण है 

(a) नये ऱणभ-ऱणभ अनपुणत में 

(b) परुणने ऱणभ-ऱणभ अनपुणत में 

(c) त्यणग अनपुणत में 

(d) ऱणभ-प्रणजप्त अनपुणत में 

 

12. नए सणझदेणर द्िणरण ख्यणनत की रणमश दी िणती है 

(a) पूॉिी के भगुतणन के मऱए 

(b) ऱणभ में हहथसण पणने के मऱए 

(c) सम्पवत्त क्रय करने के मऱए 

(d) इनमें से कोई नहीॊ 

 

13. ऱणभ प्रणजप्त अनपुणत है 

(a) नयण अनपुणत - त्यणग अनपुणत 

(b) परुणनण अनपुणत - त्यणग अनपुणत 

(c) नयण अनपुणत - परुणनण अनपुणत 

(d) परुणनण अनपुणत - नयण अनपुणत 

 

14. सणझदेणरी फमज के पनुगजठन पर सम्पवत्तयों के मलू्य में िदृ्चि कण पररर्णम है 

(a) ितजमणन सणझदेणरों को ऱणभ 

(b) ितजमणन सणझदेणरों को हणनन 

(c) ितजमणन सणझदेणरों को न ऱणभ न हणनन 
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(d) इनमें से कोई नहीॊ 

15. ख्यणनत एक...........सम्पवत्त है। 

(a) व्यिज 

(b) मतूज 

(c) मलू्यरहहत 

(d) मलू्यिणन 

 

16. सणझदेणरों की पूॉिी थिणयी होने पर कौन से िणते िोऱे िणते हैं? 

(a) केिऱ पूॉिी िणत े

(b) केिऱ चणऱ ूिणत े

(c) दणनयत्ि िणत े

(d) पूॉिी और चणऱ ूिणते  

 

17. सणझदेणरी सॊऱेि के अभणि में सणझदेणर हकदणर नहीॊ है 

(a) िेतन पणने कण 

(b) कमीशन पणने कण 

(c) पूॉिी पर ब्यणि पणने कण 

(d) इनमें से कोई नहीॊ  

 

18. सणझदेणर कण फमज से सम्बन्ि होतण है। 

(a) थिणमी कण 

(b) एिेंट कण 

(c) थिणमी एिॊ एिेंट कण 
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(d) प्रबॊिक कण  

19. सणमणन्य सणझदेणरी फमज में सणझदेणरों की सॊख्यण हो सकती है। 

(a) अचिकतम 2 

(b) अचिकतम 10 

(c) अचिकतम 20 

(d) अचिकतम 50 

 

20. सणझदेणरी अनबुॊि बनणनण है 

(a) अननिणयज 

(b) अॊशत: अननिणयज 

(c) ऐजछिक 

(d) इनमें से कोई 

 

21. सणझदेणरों कण दणनयत्ि होतण है 

(a) सीममत 

(b) असीममत 

(c) सणझदेणरी अचिननयम द्िणरण 

(d) इनमें से कोई नहीॊ  

 

22. बीमण पॉमऱसी के समवपजत मलू्य से अिज उस मलू्य से है 

(a) िो ककसी सणझदेणर के मतृ्य ुपर प्रणप्त हो 

(b) िो पॉमऱसी के देय होने पर प्रणप्त हो 

(c) िो पॉमऱसी के देय नतचि से पिूज प्रणप्त हो सकतण हो 
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(d) उपयुजक्त में से कोई नहीॊ  

23. सणझदेणर के अिकणश िहर् करने पर ख्यणनत की रणमश ककसके पूॉिी िणते में के्रडडट 
की िणयेगी ? 

(a) अिकणश िहर् करने िणऱे सणझदेणर के 

(b) शषे सणझदेणरों के 

(c) सभी सणझदेणरों के 

(d) उपयुजक्त कोई नहीॊ  
 

24. सणझदेणरी अचिननयम प्रणििणन करतण है कक अिकणश िहर् करने िणऱे सणझदेणर 
द्िणरण िोड़ ेगए उसके पूॉिी शषे पर ब्यणि ममऱनण चणहहए 

(a) 5% 

(b) 6% 

(c) बैंक दर 

(d) 8%  
 

25. पनुमूजल्यणॊकन िणते में के्रडडट पऺ के डबेबट पऺ पर आचिक्य को कहते है  

(a) ऱणभ 

(b) हणनन 

(c) प्रणजप्त 

(d) व्यय 
 

26. विशषे अनमुनत को िोड़कर, समतण अॊशों पर अचिकतम िूट दी िण सकती है। 

(a) 5% 

(b) 10% 

(c) 12% 
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(d) 20% 

27. अदत्त यणचनणओॊ की रणमश 

(a) पूॉिी में िोड़ी िणती है। 

(b) अॊश पूॉिी में से घटणई िणती है। 

(c) सम्पवत्त पऺ में हदिणई िणती है। 

(d) समतण एिॊ दणनयत्ि पऺ में हदिणई िणती है  

 

28. अॊशों के हरर् के पररर्णम थिरूप घटु िणती है 

(a) चकुतण पूॉिी 

(b) अचिकृत पूॉिी 

(c) आरक्षऺत पूॉिी 

(d) थिणमी सम्पवत्त 

 

29. हरर् ककए गए अॊशों के पनु् ननगजमन पर दी गई िूट को डबेबट ककयण िणत 

(a) अॊश पूॉिी िणते में 

(b) अॊश अपहरर् िणते में 

(c) ऱणभ-हणनन िणते में 

(d) सणमणन्य सॊचय िणते में 

 

30. कम्पनी के मऱए अचिमलू्य पर ऋर्पत्र कण ननगजमन है 

(a) पूॉिीगत ऱणभ 

(b) ऱणभ 

(c) आयगत प्रणजप्त 
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(d) सम्पवत्त 

31. ऋर्पत्रों के ननगजमन पर हदयण िणने िणऱण बट्टण ककस प्रकृनत कण होतण है ? 

(a) आयगत हणनन 

(b) पूॉिीगत हणनन 

(c) थिचगत आयगत व्यय 

(d) इनमें से कोई नहीॊ 
 

32. कम्पनी के समणपन पर ऋर् पत्रों के मऱूिन की िणपसी की िणती है 

(a) सबसे पहऱे 

(b) सबसे बणद में 

(c) समतण अॊशपूॉिी से पहऱे 

(d) इनमें से कोई नहीॊ 
 

33. ऋर्पत्र िणरी को ममऱतण है 

(a) ऱणभणॊश 

(b) ब्यणि 

(c) ऱणभणॊश और ब्यणि दोनों 

(d) बोनस 
 

34. सेबी द्िणरण िणरी ककए गए ननदेशों के अनसुणर पररितजनशीऱ ऋर्पत्रों की अिथिण 
में, ऋर् पत्रों के शोिन से पिूज, ऋर्पत्रों की रणमश कण ककतने प्रनतशत ऋर्पत्र शोिन 
सॊचय बनणन ेके मऱए आिश्यक है ? 

(a) 25% 

(b) 50% 

(c) 100% 
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(d) शनू्य 

35. ऋर्पत्रों के शोिन पर ऱणभ को ककस िणते में हथतणॊतररत ककयण िणतण है ? 

(a) पूॉिी सॊचय िणतण 

(b) मसॊककॊ ग फॊ ड िणतण 

(c) सणमणन्य सॊचय िणतण 

(d) ऱणभ-हणनन िणतण 

 

36. थियॊ के ऋर्पत्रों के रद्द होने से होने िणऱण ऱणभ है 

(a) आयगत ऱणभ 

(b) पूॉिीगत ऱणभ 

(c) सॊचणऱन ऱणभ 

(d) व्यणपणररक ऱणभ 

 

37. ननम्न में कौन-सी िसऱूी की ऱणभ-हणनन सही है। यहद सम्पवत्तयों की बबक्री से प्रणप्त 
रणमश ₹ 50,000, कुऱ सम्पनतयणॉ ₹ 60,000, कुऱ दणनयत्ि ₹ 20,000, हो ि िसऱूी िचज 
₹ 2,000 हो? 

(a) ₹ 8,000 हणनन 

(b) ₹ 12,000 हणनन 

(c) ₹ 32,000 ऱणभ 

(d) इनमें से कोई नहीॊ 

 

38. विविि ऱेनदणर 8000 ₹ िे। इन्हें 5% िूट पर भगुतणन ककयण गयण। िसऱूी िणते 
को डबेबट ककयण िणयेगण 

(a) 8000 ₹ से 
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(b) 7600 ₹ से 

(c) 400 ₹ से 

(d) 8400 ₹ से 

 

39. फमज के विघटन के समय सणझदेणरों के पूॉिी िणते के के्रडडट शषे कण भगुतणन ककयण 
िणतण है 

(a) सणझदेणरों को 

(b) फमज को 

(c) पत्नी को 

(d) इनमें से कोई नहीॊ 

 

40. फमज के विघटन पर सणझदेणरों के पूॊिी िणते बॊद ककए िणते हैं 

(a) िसऱूी िणते द्िणरण 

(b) आहरर् िणते द्िणरण 

(c) बैंक िणते द्िणरण 

(d) कर् िणते द्िणरण 

 

SECTION – B 

PART - A 

 

1. ऱणभ न कमणने िणऱी सॊथिण से सम्बजन्ित चणर मदों को मऱखिए। 

2. ऱणभों के प्रभणर एिॊ ऱणभों के बॉटिणरे में अॊतर थपष्ट कीजिए। 

3. ख्यणनत के मलू्यणॊकन की आिश्यकतण क्यों पड़ती है ? कम से कम तीन कणरर् दें। 



https://www.bsebstudy.com 

4. A, B और C तीन सणझदेणर हैं जिनकण ऱणभण ऱणभ अनपुणत 1

2
:

1

3
:

1

6
 है| यहद B 

ररटणयर हो िणए तो नयण ऱणभण-ऱणभ अनपुणत ऻणत कीजिए। 

5. ककन पररजथिनतयों में एक सणझदेणरी फमज भॊग समझी िणती है ? 
 

6. A,B और C ऱणभ-हणनन को 2

6
,
12
 तिण 1

6
 में बणॉटते िे। A ने अिकणश िहर् ककयण तिण 

अपने हहथसे के 2

3
 भणग B के पऺ में तिण शषे C के पऺ में त्यणग ककयण। नये अनपुणत 

तिण ऱणभ प्रणजप्त अनपुणत की गर्नण कीजिए। 
 

PART - B 

7. अॊश एिॊ ऋर् पत्र में अन्तर कीजिए। 
 

8. ककन्हीॊ तीन उद्देश्यों कण उल्ऱेि करें जिनके मऱए अॊश प्रीममयम कण उपयोग ककयण 
िण सकतण है ? 
 

9. क्यण रोकड़ प्रिणह वििरर् वित्तीय वििरर् कण अॊग है ? यह क्यों बनणयण िणतण है? 
 

10. ननम्न सचूनण से थकन्ि अनपुणत ननकणमऱए 

बबक्री       ₹ 4,00,000 

औसत रहनतयणॉ     ₹ 55,000  

सकऱ हणनन अनपुणत    10%  
 

11. िब अॊश प्रीममयम पर ननगजमन ककए िणए तो इसके मऱए आिश्यक िनजऱ की 
प्रविजष्टयणॉ कीजिये। https://www.bsebstudy.com 
 

12. 1 अप्रऱै, 2012 को प्रकणश इण्डथरीि ने 4,00,000 ₹ के 9% प्रत्येक 100 ₹ िणऱ े
ऋर्पत्र 6% प्रीममयम पर ननगममजत ककए िो 31 मणचज, 2016 को 10% प्रीममयम पर 
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शोिन होने है | ऋर् पत्रों कण देय नतचि पर शोिन कर हदयण गयण। केिऱ ऋर्पत्र के 
शोिन की िनजऱ  प्रविजष्टयणॉ कीजिए। 

13. वित्तीय वििरर् के विश्ऱेषर् कण क्यण महत्ि है ? 

अििण 

ननम्न सचूनण के आिणर पर सॊचणऱन ऱणभ अनपुणत ऻणत कीजिए।। 

₹ 

बबक्री          4,10,000 

विक्रय िणपसी        10,000 

सकऱ ऱणभ         1,50,000 

कणयणजऱय व्यय        15,000 

विक्रय व्यय         26,000 

 

14. ननम्नणॊककत अॊकों से तुऱनणत्मक ऱणभों कण वििरर् तैयणर कीजिए- 

वििरर् 31.3.2015 
₹ 

31.3.2016 
₹ 

विक्रय 6,00,000 8,00,000 
सकऱ ऱणभ अनपुणत 30% 40% 
प्रशणसकीय व्यय 40,000 1,00,000 
आय कर 50% 50% 
 
15. ननम्न तुऱनणत्मक चचट्ठे से 31 हदसम्बर, 2016 को रोकड़ प्रिणह वििरर् तैयणर 
कीजिए| 

वििरर् 2015  2016  
समतण अॊश एिॊ देयतणएॉ :   
अॊश पूॉिी 3,00,000 3,50,000 
ऱणभ-हणनन वििरर् अचिशषे 10,000 23,000 
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व्यणपणररक देय  70,000 45,000 
 3,80,000 4,18,000 
सम्पवत्त :   
मशीन  50,000 66,000 
थटॉक 1,80,000 1,90,000 
व्यणपणररक प्रणप्य 1,20,000 1,15,000 
रोकड़ 30,000 47,000 
 3,80,000 4,18,000 
मशीन पर ह्रणस कणटण गयण ₹ 5,000 | 

 

16. रोकड़ प्रिणह वििरर् कण एक कणल्पननक प्रणरूप तैयणर कीजिए। 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2017 
इंटरमीडिएट परीक्षा - 2017 

(ANNUAL / वार्षिक)  

ACCOUNTANCY  
Time: 3 Hours 15 Minutes             [Full Marks: 100 

SECTION-A 

For the following question nos. 1 to 40 there is only one correct answer against each 

question. Mark the correct option on the Answer Sheet. 

1. Income & Expenditure Account records transaction of 

(a) Revenue nature only 

(b) Capital nature only  

(c) Both revenue and capital nature 

(d) None of these 

 

2. Donations received for special purposes  

(a) should be credited to income & expenditure A/c 

(b) should be credited to separate account and shown in the balance sheet 

(c) should be shown on the assets side 

(d) None of these 

 

3. Subscription received by a school for organising annual function is treated as 

(a) Capital receipt 

(b) Revenue receipt 

(c) Assets 

(d) Earned Income  
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4. Out of the following items, which one is shown in the receipts and payments account?  

(a) Outstanding salary 

(b) Depreciation  

(c) Life membership fees 

(d) Accrued subscription 

 

5. Account is a summary of 

(a) Income & Expenditure A/c. 

(b) Cash book 

(c) Balance sheet 

(d) None of these 

 

6. Capital fund is calculated 

(a) Income - Expenditure 

(b) Assets - Liability  

(c) Capital + Liability 

(d) None of these 

 

7. Subscription recieved in advance during the current year is  

(a) An Income 

(b) An asset 

(c) A liability  

(d) None of these 

 

8. Most transactions in non trading concerns are 

(a) Cash  

(b) Credit  

(c) Cash and credit both 

(d) None of these 
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9. If at the time of admission of new partner, some profit & loss account balance appears 

in the books, it will be transferred to 

(a) Profit and loss Appropriation A/c 

(b) All partners Capital A/c  

(c) Old partner's capital A/c 

(d) Revaluation A/c 

 

10. Assets and Liabilities are shown at their re-valued values in 

(a) New balance sheet  

(b) Revaluation A/c 

(c) All partners capital A/c 

(d) Realisation A/c 

 

11. If the incoming partner brings the amount of goodwill in cash and also a balance 

exists in goodwill A/c, then this goodwill A/c is written off among the old partners in 

(a) In new profit sharing ratio  

(b) In old profit sharing ratio 

(c) In sacrifice ratio 

(d) In gaining ratio 

 

12. The amount of goodwill is paid by the new partner 

(a) For payment of capital 

(b) For sharing the profit 

(c) For purchase of assets 

(d) None of these 

 

13. Gaining ratio is 

(a) New ratio - Sacrifice ratio 

(b) Old ratio - Sacrifice ratio 

(c) New ratio - Old ratio 

(d) Old ratio - New ratio 
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14. On reconstitution of the firm, increase in the value of assets will result in 

(a) Gain to existing partners 

(b) Loss to existing partners 

(c) Neither gain nor loss to existing partners 

(d) None of these 

 

15. Goodwill is a ..............asset.. 

(a) Worthless 

(b) Tangible 

(c) Valueless 

(d) Valuable 

 

16. Which accounts are opened when the capitals are fixed? 

(a) Only capital accounts 

(b) Only current accounts  

(c) Liability account 

(d) Capital and current A/c 

 

17. In the absence of partnership deed, partners are not entitled to receive 

(a) Salaries 

(b) Commission 

(c) Interest on capital  

(d) All of these 

 

18. The relation of partners with the firm is that of 

(a) An owner 

(b) An agent  

(c) An owner and an agent 

(d) Manager 
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19. Number of partners in an ordinary partnership firm may be 

(a) Maximum two 

(b) Maximum ten 

(d) Maximum fifty 

(c) Maximum twenty  

 

20. Preparing partnership deed is 

(a) Compulsory 

(b) Partly compulsory 

(c) Voluntary 

(d) None of these 

 

21. Liability of partner is 

(a) Limited 

(b) Unlimited  

(c) Determined by partnership act  

(d) None of these 

 

22. Surrender value of an insurance policy means that value 

(a) which is received on death of a partner 

(b) which is received when a policy matures 

(c) which can be received before the due date of the policy 

(d) None of the above 

 

23. On retirement of a partner, goodwill will be credited to the capital account of 

(a) Retiring partner 

(b) Remaining partners 

(c) All partners 

(d) None of the above 
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24. Partnership act provides that interest on amount of capital balance left by the retiring 

partner be paid at 

(a) 5% 

(d) 6% 

(c) Bank rate 

(d) 8% 

 

25. Excess of credit side over the debit side in revaluation account is 

(a) Profit 

(b) Loss  

(c) Receipt 

(d) Expense 

 

26. Subject to the permission allowed, the maximum allowable discount on equity shares 

is 

(a) 5% 

(b) 10% 

(c) 12% 

(d) 20% 

 

27. Amount of calls in Arrear is  

(a) Added to capital 

(b) Deducted from share capital 

(c) Shown on the asset side  

(d) Shown on the equity and liability side 

 

28. Forfeiture of shares results in the reduction of 

(a) Paid up capital 

(b) Authorised capital 

(c) Reserve capital 

(d) Fixed assets 

https://www.bsebstudy.com/
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29. Discount allowed on reissue of forfeited shares is debited to  

(a) Share capital A/c  

(b) Share forfeited A/c  

(c) Profit & Loss A/c 

(d) General Reserve A/c 

 

30. Company premium on issue of debenture is a 

(a) Capital Gain  

(b) Profit 

(c) Revenue Receipt  

(d) Asset  

 

31. Discount in issue of Debentures is in the nature of 

(a) Revenue loss 

(b) Capital loss 

(c) Deferred Revenue expenditure  

(d) None of these 

 

32. On liquidation of a company, principal amount of debentures is returned 

(a) First of all 

(b) Last of all  

(c) Before equity capital  

(d) None of these 

 

33. Debenture holder receives 

(a) Dividend 

(b) Interest 

(c) Both dividend and interest 

(d) Bonus 
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34. According to SEBI guidelines, what percentage of the amount of debentures must be 

transferred to Debenture Redemption Reserve, before the commencement of redemption 

of debentures, in case of convertible of debentures? 

(a) 25% 

(b) 50%  

(c) 100% 

(d) Zero 

 

35. Profit on redemption of debentures is transformed to which account? 

(a) Capital Reserve Account 

(b) Sinking Fund Account 

(c) General Reserve Account 

(d) Profit & Loss A/c 

 

36. Profit on cancellation of own debenture is 

(a) Revenue profit  

(b) Capital profit  

(c) Operating Profit 

(d) Trading profit 

 

37. Which of the following is correct profit or loss in case of the amount received from 

the sale of assets is रु 50,000, total assets is रु 60,000, total liabilities रु 20,000 and 

realisation exp. रु 2000 ? 

(a) रु 8000 loss 

(b) रु 12,000 loss 

(c) रु 32,000 profit 

(d) None of these 
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38. Sundry creditors amounted to रु 8000. These were paid at a discount of 5%. 

Realisation A/c will be debited by 

(a) रु 8000 

(b) रु 7600 

(c) रु 400 

(d) रु 8400 

 

39. On dissolution of a firm, credit balance of partner's capital account is paid to 

(a) Partners 

(b) Firm 

(c) Wife 

(d) None of these 

 

40. On dissolution of the firm, partner's capital A/c are closed through 

(a) Realisation A/c 

(b) Drawings A/c 

(c) Bank A/c 

(d) Loan A/c 

SECTION - B 

PART - A 

1. Write four items relating to Not-for-profit organisation.  

 

2. Distinguish between 'Charge against profit' and 'Appropriation out of profit'. 

 

3. Why the valuation of goodwill is required? Give minimum three reasons. 

 

4. A, B and C are partners sharing profits in the ratio of 
1

2
: 

1

3
: 

1

6
 Find out new profit 

sharing ratio if B retires. 

 



https://www.bsebstudy.com 

5. Under which circumstances a partnership firm is deemed to be dissolved?  

 

6. A, B and C were partners sharing profits in the ratio of 
2

6
,

1

2
 and 

1

6
 A retires and 

surrenders 
2

3
 rd of his share in favour of B and remaining in favour of C. Calculate new 

ratio and gaining 

PART - B 

7. Distinguish between Share and Debenture. 

8. State any three purposes for which share premium can be utilised?  

9. Is cash flow statement a part of financial statement? Why is it prepared?  

10. From the following information, calculate stock turnover ratio : 

Sales       रु 4,00,000  

Average stock            रु 55,000 

Gross loss ratio        10% 

 

11. Pass Journal entries when shares are issued at a premium.  

 

12. Prakash Industries issued रु 4,00,000 9% debentures of रु 100 each on April 01, 2012 

at a premium of 6% redeemable at a premium of 10% on 31st March, 2016. The 

debentures were redeemed on due date. Pass only journal entries for redemption of 

debenture. https://www.bsebstudy.com 

 

13. What is the importance of analysis of financial statement ?  

Or. 

Calculate operating profit ratio from the following information: 

    रु  

Sales    4,10,000 

Sales Return   10,000 

Gross profit   1,50,000 

Office Exps.   15.000 

Selling Exps   26,000 
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14. From the following data, prepare a statement of profits in comparative form: 

Particulars 31.3.2015 रु 31.3.2016 रु 

Sales 6,00,000 8,00,000 

Gross profit ratio 30% 40% 

Administrative expenses 40,000  1,00,000   

Income tax 50% 50% 

 

15. From the following comparative balance sheet prepare cash flow statement as on 

31st Dec., 2016: 

Particulars 2015 2016 

Equity & Liabilities: 

Share capital 

Statement of profit & 

loss surplus 

Trade Payables 

 

Assets:  

Machinery 

Stock 

Trade Receivables 

Cash 

 

3,00,000 

10,000 

 

70,000 

 

3,50,000 

23,000 

 

45,000 

3,80,000 4,,18,000 

 

50,000 

1,80,000 

1,20,000  

30,000 

 

66,000 

1.90,000 

1,15,000 

47,000 

 3,80,000 4,18,000 

Depreciation charged on machinery रु 5,000. 

 

16. Prepare an imaginary proforma of cash flow statement 

 


